Precalculus Unit 5 Review Name

1. Express 250° in radians
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4. Evaluate the trigonometric function using its period as an aid: cos 5n
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5. Given cot 6 =5/12 and cos 6 > 0, find sin 0
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7. Evaluate cos[arcsin(1/2)]
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8. Find a, b, c and d for f(x) = d + a cos (bx — c) so that
the function matches the graph
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9. Find the amplitude and period of the function graphed at
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10. Write the equation of the function whose . i
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11. Determine the quadrant of the fol]owing:-l%[-
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12. Express the following in radians: 445°
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13. Find the point (a,b) on the unit circle that corresponds to the real numbert: t= 5—;
Then find sine, cosine and tangent.

g W (ST .
?%, lct“%)g w2

3 -
(%) Y% R’
L Ty 073 2 V3 2
%) cos(®P) va ~ * |

14. Find cotx: If cosx=7/9,sinx <0

e R
W

7 - - I—-ul——
“tratsqt 4J2
oy 32
ez iz
15. Find an algebraic expression that is equivalent to the expression below
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16. Sketch the graph. Show TWO (2) full periods .
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17. Given the equation y = 2sin (3x -x) - 5, find the following —» Y= 2swm(3(x -1/3\0 -3
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18. Evaluate csc17.2°

19. Find the amplitude and period 2sin=> = 2gun (L x)
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20. Approximate TWO values of 6 (0° <0 <360°) that satisfies the equation. Round to three
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21. Evaluate with a calculator: sin(27/3) " 'ﬂﬁﬁl 296, SbS° k
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